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{4%) 5. In a study of the osmotic pressure of hemoglobin at 276.15 K, the
Pregmire was found to be equal to that of & column of water 3.51
cm in height. The mncenh-ahnn was 1g per 0.100 dm?. Caleulate
the mnlar mass.

(4%) ©. Why do positive and negative deviations from Raoult's law peeur?

(2%) 7. Determine the number of degrees of freedom for the system of an
unsaturated solution of potassium chloride in water at the
gquiiibrium pressure.

(4%) &. Show that if a golute follows Henry's law in the form of Pa=k'xq,
then the solvent muat, follow Raoult’s law.
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(4%} 9. Calculate the emf of the cell
P4, Hy (1 bar)] HCI( 0.1m)f (0.2 m)| Py, H, (10 ban)

(5%310. The figure shown below the pressure-composition diagram for two
volatile components showing lquid-vapor equilibrium as a
function of vaper pressure and mole fracticn for the system
isohutyl aleohol (component 1) issamyl slecohol {component 2) at
323.1 K.

Prove the lever rule
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whoere n; denotes the amount (mole) of substrate in the liquid stata

and ny in the vapor state, respectively.
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{6%)12.

(B%)13.

{5%)14.

el
Schematically plot the free energy G and enthalpy H vs.

temperature for the first-order and second-order phase transitions
according to Tisza's theory.

The Gibbs energies of formation of NQg(g} and NaCy(g) are 51.30
and 162.00 KJmol-1, regpectively {(standard state : 1 bar and 25°C),
at what total pressure is NaQy4 50% dissociated?

Derive two different methods of determing tha activity coefficients
of aoliztions,

Determine the range for the Gibbs energy of mixing for an ideal
HO/50 mixture at 300 K.




